r=h 4 A =
(RlREEE1—D) FREEES 107

STISEE ARALAK AT
SEHORE BBF HHREREHE ()

(AFEER, SRR, %FE-FBFEMAR (788R)
AFEE] . S A0 F _
EE B X A H Al
= | D o | II it I | I i I =
HE BB FERE 7 4~5 3~2
I.EJ‘EU)EIEE 2 2 15 10
B EE X1 2 2 17 12 |(F) BREFRENRTE2HK
e 4 2 3 19 2 2 MBROEEIOEMEGELT2EEERTE
O HEER 4 3 3 2
) HARSCEE 2 @2 @2
B HHEEE 2 @2 @2
#h H i & 2 2 11 4
Hh 3R ih I8 5 70 3 A2 A3 6 [[2EXEITA2MS 1R EEIR
FEsE i =) 2 2 BETAIETHGREIET S
=P Nrak 3 A2 A3
1t 57 51 290 3 A2 A3 SEXH(IENS 1R EEIR
) HALED 2 H2 F-2L. ALR—EHEETHEEEETS
() AR EE 2 m2
() #h 8 EH 2 H2 @2
S 2 2 4 2 4
AR B 5 (2 02 SFEFO2M 51 BHEIR
=R - 1 2 02 2
= 3 3 11 17
= M F I 4 4 13 4
o2 3 15 ©4 SEER(FOMNS 1R BEER
oA 2 2 17
M = B 2 2 2
M =FEC 2 02 2
COME S ©4
() HMFEEETA 2 02
() HFEEIIB 2 02
) 18 KO 2 2 8 19
HF Y I 4 10 #H2 4 2EXH TH#2M 1R B IEIR
1t == B 5% 2 #H2 3
£ = 4 4
CRE-% 2 2 2B T # 20 51R BER
£y 4 #H2 ¢4 SETOEMEEETHL
Hho== B OE 2 #H 2
(52) ipE R *2 SEXE(Fe2h 515 BHEIR
() bpEpEEE 2 ¢2 LR BLR—EHESCHBEBET S
() H 2 €202 F-EPEBREE DO SLODHHEIZTRT
(%) e REEE 2 *2
RIE KX 7 i~ 3 3 10 2 3 10
=1 T & 2 1 1 12 1 12
(B SATARKR—Y [2 @2 @2
ERESED 2 2 4 4
EMETET 2 2 6 2 6 [BFEXED=EMERIE
() LIz —oa HH 2 02 8 @2/ S1FB. O2MH1RBET
=T |(5F) B & = i 2 02 @2
() =fli=EE 2 02 (B EEEEHEERT 2K
(). E =1 2 @2 @2 EE 1 OEMEMELTI BNERE
() = B £ 2 Q2
() EFEE 2 @2 @2
BRI =h—3) 1] 3 3 17 16
VaNES HEEII1-7—3) 1 4 4 19 4 18
B HEEII1 =93] 4 4 3
EEERECE 2 2
mIE-XRIET 2 2 2
- XIE 2 2 2
() HEEE 2 @2 @2
REE xR RE = 2 2 2 2 ] 2
() £ F X1 2 @2 4 @2 | 4
E#R 55 1 2 2 2 2
() B IEE 2 @2 4 @2 | 4
ZH-HBEDE 30 30 30 90 30 30 |90
HRENTEE DR a~ql 1 1 1 3 1 1 3 [HER
:r;g R—LJIL—LESH 1 1 1 3 1 1 3
i B 32 32 32 o6 32 32 |96
X R o7 7 SER X F@OADITH ELT@A 51T H R




